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Subtraction - 2

1. +5=12

a) 5 b) 6

c) 7 d) 8

2.10- =3

a) 7 b) 5

c) 2 d) 8

3.21- =0

a) 12 b) 18

c) 21 d) None of these
4. 10, 15, 20,

a) 22 b) 25

c) 27 d) None of these
5.8+ =15

a) 8 b) 7

c) 10 d) None of these

6. There are 20 chocolates in a glass jar. 5 chocolates are eaten by Bob then how many chocolates will
remain?

a) 12 b 15

c) 14 d) 17

7.42,39, 36, 33,

a) 30 b) 27

c) 26 d) None of these
8.20, 30, 40, 50,

a) 80 b) 70

c) 60 d) 50

9. There are 25 flowers in a bouquet. If we remove 7 flowers from the bouquet, then how man flowers
will remain?

a) 16 b) 17
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c) 18
10. 1 less than 35 =
a) 32

c) 34
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d)

b)
d)

19

33

35



